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Math II
Unit 1 day 4 Interval Notation, Domain & Range

Put in interval notation and draw a graph ef each inequality.

'

1. x>4 ('J 47

. 2. X6

-

A

A 4

L}
%
o

3. x<-2 <\ 0

=

A 4

 Write each interval as an inequality.

N-iz-197 N

NAME:
Period: Date:

1 [4,00)

4. (=0, -8]
( aAtn
!I 5. [5,)

6. (-2,x)

7. [-10, )

8. (-0, 6) g_

Write interval notation that describes the graph.
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Woodworth Functions 3A - Evaluate 3 ways NAME

Evaluate the function at the given value. Show your work for full credit.

1. g(n)=4n-5g(-2) 2. h(x)=x"-3x%h(3)
W-20-5 (3R 5(3)
-¥-5= =13 4-9 = O

(—Q.,’B) (3) O)

Evaluate the following functions given f (x)=-3x+4 and g (x)=4x-9
3. Find f(4) 4. Findxifg(x)=3
gy 7 T Bt
2l = JA® Lj_g
- (4/ -8> Lt
5

*Given this graph of the functionk (x) :

- ind xwhen £ (X)= = ‘f’Dd—‘
; 6. Findxwhen £(x)=3 <0 Ijilb/f 049

©3) C-10,91 ,((m \us%’ ;O [ ]
7. Give the domain ofk(x) 64—5——5—914175, leethe rangeofk( )
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(-3,-1V), (14,-1)
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Coord Alg AROC Review B Woodworth ~ NAME pd__

1. What is meant by “average rate of change”? the %loz b H’ pas PUTM_S

2. What do you need to find average rate of change? o’l W

Find the average rate of change for the following functions over the given intervals.

3. f(x)=3" ontheinterval [0,3]
27-1 26
£o)=3°- | 0,D -0 < B
£(2)- 3% 371 (3,27)

4. \_Nhich_has the greater average rate of change - Function Aon (2,6] OR Function B on [5,8]?

Function A Function B A’ ; S gf £

x fx) y
0 1400 2800
2 1546.92 2600
4 170025 | s
6 1888.62
8 208682 | [
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17 4
5. h(x)= —-%x+8 . Find the average rate of change of h(x)onthe interval [—127:,—6
; 5

6. Use the table to find average rate of k(x) on [0,6].

X Yy _ 88
3 |-3625 (o D ((") ! )
! g+l 189 -3),5 L=
I Lo L
3 20
6 188
s e | (2,%) [5)7("@
1 e =8 . . 158
48 - 35k -z

7. Isk(x) above a linear function or an exponential function? How do you know?

Ry Fonudial
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